X720 7"7 '01n 2,28 naw .7"'02

It is broken; The one who taught this, etc. — 9919 37 maww o» IN=an

Overview

The X713 now assumes that the first Xin of the 71wn (the p"n) maintains that if the
object moved from the front to the back or from the back to the front he is 7195 since
his intent was not fulfilled (\nawnn 72vnk X2). The p"n argues with the next
statement of the 71wn (the X702 Xin) that if the item moved from the back to the front
or from the front to the back he is always 2>11. The X713 assumes now that each Xin
respectively maintains that he is 217 or MWw», regardless whether it swung from the
back to the front or from the front to the back. n1voIn explains why, if this is true,
they did not word their respective rulings slightly different.

- 39109 19399 19 N3Y PINNRY VPIMNY 1YY 91 2P NIN
The p"' n should have mentioned his ruling that (even) in a case where it was 191K

and swung 5% that he is (still) w5 -
- 991 XM 1N PINRY 19 XY 19399 VPIMY 1Y NN APNHRT XN XINY)

And the X902 Xin who is 2% in all cases should have mentioned his ruling in a
case where it was 1°15% and swung 1nK® for in this manner it would be a greater

novelty -
$PY9N DIV NTA YWIY SYTr KD NIWNT NIN

Rather the reason they did not mention it in the manner M»01n suggested is because

at this point the X723 did not know that there is any difference whether it is 1157 X2
Or 1INRY X2

Summary
It would have been a greater novelty had the two o°Xin stated their rulings in the

opposite case. They did not because they were not aware of any difference.

Thinking it over
1. Since the & 13 did not know at this point the difference between 1°19% 1% X2 or X2

I mpo0 in 2,7% N12I05 cites the 1" ws that X1an is a 712w, He swears that there are two different o°Xan.

2 He maintains that since 1N2wn» T2ynX X, he is 705 even if 17397 17 X271 PIAKRY.

3 See footnote # 4.

41t’s a greater w171 (for the p"n) that by 17199 12 X2 PIAXY, where there is a 79Wwn 7nw (for now it is 119?), and

nevertheless he is Mo, than in the case of 1"IR? X271 17197 where it is a 7NND 77w, There is similarly a greater ¥17°n

by the X1n2 Rin that even in a case of »INX? 12 821 1197 that he is 211 even though it is a ININD 7MW, than in the case

of 17199 X271 IR that he is 211 by a a2wn 7w,

5 If the X3 knew, there would be no contradiction between the ("n) Xw>1 and the (2"n) X9°0. See ‘Thinking it over’.
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IR 19, what is the significance of mpoIn suggestion?!®

2. mooin states that at this point there is no difference between carrying it out 1°15%
or carrying it out 1°71R>. If that is the case what is the reason of the "n that he is M
since MNawny 7T2aYNX X2, but why is it considered Wnawnn T°2VNK X7, since there is no
difference if it is 1199 or vnxR5?!’

6 See " YW naw.
7 See M7 X,
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